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Heat Practice Problems Name %ﬁ %

SOLVE THE FOLLOWING PROBLEMS FOR THE GIVEN EQUATIONS

1)N2+3H2‘>2NH3 AH=-91.8kJ

a. Calculate the heat released (kJ) for the reaction in which 9.07 g of NHj is formed.

b. Calculate the heat released in kJ when using 24.3 grams of N,?
S -
—19.6 1K

2) 3NO;+H;0O - 2HNO; +NO AH = -308.1 kJ

a. What amount of heat energy (kJ) is released in forming 15.0 g of HNOs by the

following reaction? _
- 56.68KT
b. How much energy (kJ) is released when 55.0 g of HyO are used?

-GY 4 xT

3) 2Al+Cr0; 2 ALO3+2Cr AH=-536k]

a. Aluminum reacts with chromium(III) oxide according to the following equation. How
much heat (kJ) is released by the reaction of excess aluminum with 25.0 g of Cr,037

_Y§le kT

b. How much heat (kJ) is released when 32.0.g of aluminum are used?

- 317.434T




